

کعبہ اسیر کیا

۱۹، ۵ آفرین

$$y = \tan(-x + \frac{\pi}{2}) \quad S_{ABC} = \frac{\pi}{r} \times 1 \times \frac{1}{r} = \frac{\pi}{r^2}$$

$$\lim_{x \rightarrow A} \tan(-x + \frac{\pi}{2}) = +\infty$$

(1) 1 < 0

$$x=0 \rightarrow y = \tan \frac{\pi}{2} = 1 \rightarrow B=1$$

$$\tan(-x + \frac{\pi}{2}) = 0 \rightarrow x = \frac{\pi}{2} \rightarrow C = \frac{\pi}{2}$$

$$-x + \frac{\pi}{2} = \frac{\pi}{2} \rightarrow A = \frac{-\pi}{1}$$

$$-x + \frac{\pi}{2} = \pm \frac{\pi}{2} \rightarrow x = -\frac{\pi}{2}$$

$$S = \frac{AC \times B}{2} = \frac{\frac{\pi}{2} \times 1}{2} = \frac{\pi}{4}$$

$$b = \frac{r}{\lambda} = \frac{\pi}{r}$$

$$\hookrightarrow x = \frac{\pi}{\lambda}$$

$$x^2 (Sinx) - \frac{1}{2} Cos^2 \alpha = 0 \xrightarrow{x=\frac{r}{\lambda}} \frac{r}{\lambda} - \frac{r}{\lambda} Sin \alpha - \frac{1}{2} \frac{Cos^2 \alpha}{\frac{r}{\lambda}} = 0$$

$$\frac{r}{\lambda} - \frac{r}{\lambda} Sin \alpha - \frac{1}{2} + \frac{1}{2} Sin^2 \alpha = 0 \xrightarrow{\times \lambda} 4 Sin^2 \alpha - 4 Sin \alpha + 1 = 0 \rightarrow Sin \alpha = \frac{1}{2}$$

$$1 + tan^2 \alpha = \frac{1}{Cos^2 \alpha} \rightarrow Cos^2 \alpha = 1 - Sin^2 \alpha = 1 - \frac{1}{4} = \frac{3}{4}$$

$$\rightarrow 1 + tan^2 \alpha = \frac{4}{3} \quad \checkmark$$

$$\log(Sinx) - \log(-Cos \alpha) = \log^p \rightarrow \log \frac{Sin}{-Cos} = \log^p$$

$$\frac{Sin}{-Cos} = p \rightarrow \frac{Sin}{Cos} = tan = -p \rightarrow \frac{Cos^2}{1+tan^2} = \frac{1}{10} \rightarrow Cos = \frac{-\sqrt{10}}{10}$$

★ کیوں منفی؟ چونکہ $-Cos_n$ باہر در داخلہ کر رہا ہے!

$$Sin = \sqrt{1 - \frac{1}{10}} = \frac{\sqrt{10}}{10}$$

$$Sin \alpha - Cos \alpha = \frac{\sqrt{10}}{10}$$

$$Sin^2 + Cos^2 = \frac{r}{a} \xrightarrow{Cos^2 = 1 - Sin^2} Sin^2 - Sin^2 + 1 = \frac{r}{a}$$

$$Cos^2 Sin^2 = \frac{Cos^2 (1 - Sin^2)}{2} \rightarrow 1 + Sin^2 - 2 Sin^2 + Sin^2 = Sin^2 - Sin^2 + 1 = \frac{r}{a}$$

$$\frac{r Sin n + Sin n Cos n}{r - r Cos n} = \frac{Sin n (r + Cos n)}{r Sin n} < 0 \rightarrow r Sin n < 0 \rightarrow Sin n < 0$$

$$Sin n tan n - \frac{1}{Cos n} = \frac{Sin^2 n - 1}{Cos n} = \frac{-Cos^2 n}{Cos n} = -Cos n > 0 \rightarrow Cos n < 0$$

$$\frac{r}{\sin n} + \frac{r}{\cos n} = \frac{r \cos n + r \sin n}{\sin n \cos n} = 0 \rightarrow r \cos n + r \sin n = 0 \xrightarrow{\cdot \cos n} r + r \tan n = 0$$

$$\tan n = \frac{-r}{r} \quad \cot n = \frac{1}{\tan n} = \frac{-r}{r} \quad \tan n + \cot n = \frac{-r}{r} + \frac{r}{r} = \frac{-r + r}{r} = \frac{0}{r} = 0$$

$$\frac{\sqrt{1 + \sin^2 \alpha}}{\sin^2 \alpha + \sin^2 \beta} \xrightarrow{\Delta = \beta - \alpha, \quad 1 = \beta - \alpha} \frac{\sqrt{1 + \cos \epsilon}}{\sin^2 \beta = \cos^2 \epsilon} \rightarrow \frac{\sqrt{1 + \cos \epsilon}}{\sin^2 \beta \cos^2 \epsilon + \cos^2 \beta \sin^2 \epsilon + \sin^2 \epsilon \cos^2 \epsilon - \sin^2 \epsilon \cos^2 \epsilon}$$

$$= \frac{\sqrt{r \cos^2 \beta}}{r \sin^2 \beta \cos^2 \beta} = \frac{\sqrt{r} \cos \beta}{r \sin^2 \beta \cos^2 \beta} = \frac{\sqrt{r}}{r} \cdot \frac{1}{\sin^2 \beta} = \frac{1}{\sqrt{r}}$$

$$1 - r \sin^2 \alpha = \cos \beta \quad r \cos^2 \beta - 1 = \cos \alpha \quad \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} = \cos \epsilon$$

$$\Rightarrow \cos \epsilon = \cos \alpha \cdot \cos \beta \cdot \cos \epsilon \xrightarrow{\div \sin \alpha} \frac{\cos \epsilon}{\sin \alpha} = \frac{\sin \alpha \cos \alpha \cdot \cos \beta \cdot \cos \epsilon}{\sin \alpha}$$

$$= \frac{1}{r} \cos \beta \cdot \sin \alpha \cdot \cos \epsilon = \frac{1}{\epsilon} \cos \epsilon \sin \epsilon = \frac{1}{\Delta} \sin \alpha = \frac{1}{\Delta} \cos \beta \cdot \frac{1}{\sin \alpha} = \frac{1}{\Delta} \tan \alpha$$

~~$$\sin \alpha + r \cos \alpha = r \rightarrow r \sin \alpha + \sin \alpha = r \rightarrow r \sin \alpha = r - \sin \alpha \rightarrow r \sin \alpha - \sin \alpha = r - 1 = 0$$~~

$$\sin \alpha + r \cos \alpha = r \rightarrow \sin \alpha = r - r \cos \alpha \rightarrow \sin^2 \alpha = r^2 - 2r \cos \alpha + r^2 \cos^2 \alpha$$

$$1 - \cos^2 \alpha = r^2 - 2r \cos \alpha + r^2 \cos^2 \alpha \rightarrow 1 - \cos^2 \alpha - r^2 + 2r \cos \alpha - r^2 \cos^2 \alpha = 0$$

$$\Delta(1 + \cos^2 \alpha)$$

$$\Delta + \Delta \cos^2 \alpha - 1 \cos^2 \alpha + r = 0$$

$$= -1$$

$$\sin B \sin C = \cos^2 \frac{A}{r} \xrightarrow{A+B+C} \sin B \sin(A+B) = \cos^2 \frac{A}{r}$$

$$\sin B (\sin A \cos B + \cos A \sin B) = \frac{1}{r} + \frac{\cos^2 A}{r} \rightarrow \sin A \sin B \cos B + \cos A \sin^2 B = \frac{1}{r} + \frac{\cos^2 A}{r}$$

$$\frac{1}{r} \sin B \sin A + \frac{1}{r} \cos A (\sin^2 B - \frac{1}{r}) = \frac{1}{r} \rightarrow \sin^2 B \sin A - \cos^2 B \cos A = 1$$

$$\rightarrow -\cos(A+B) = 1 \rightarrow A+B = 180^\circ \rightarrow A+B = 180^\circ \rightarrow (A+B) = 180^\circ$$